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100.00

6,534
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3.2
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= 52,890(0.10)a(1)a/C52,890(1.645)%(0.10)a(1)a]
= 269.22

269.22
ef NI/ N1
k 4 | =12
1 2
= 0840/52,890 = .186
= 43,050/52,890 = 814
1= (i
nl=
gx~ ,
(1) = 270+.18 = 50.27
(e) = 270+.814 = 219.78
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2.
3.

(Headship Rate)
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(Cross-tabulation Table)

(Multiple Regression)

(Logit Model)
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(Multiple Regression)
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Stepwise Methodl

= f{ {
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= f(Income,Exp,Long,Veh,Tim,Sex,Age,Edu,size,0wn,
RTP,Rent, Ty Aff,Fin)
2
(Income)
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(Tim)

(Long)

38



(Sta)

(Size)
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(Logit Model)
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log (P-/P.)4=aXd+f. 4
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(Maximum likelihood estimates)
a

P.1 - eN | (14zePIXL)
P51 1/ (I+ Eep)*)

HH)

( Headj ) ( Labor )

HH = ()

Head]

Pjl

Labor

HOO = EHH,
(SUVMHH)
SUMHH = 5ZHO;

(PD

j
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3.3
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Housing Inventory

(HSS!

AHi*

VH
HSSh

W
Av
HSSt

HI*-Hl - 1
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